VLSI Testing
August 2013
Homework 2 Problems
Assigned Aug 19, 2013, due in class on Aug 21, 2013.
For the circuit given below answer the following questions:
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Q1. How many single stuck-at faults does this circuit have without any collapsing?
Q2. What is the equivalence collapse ratio for this circuit when structural collapsing is used?
Q3. Find tests for c1 and e0.
Q4. Find two redundant faults in this circuit.

Q5. Find CC0, CC1 and CO for all lines in this circuit.
Q6. Show that b0 and b1, i.e., stuck-at-0 and stuck-at-1 faults on line b are functionally equivalent to two faults on line f.
Q7. Can this circuit be simplified? How?









